Pre-Calculus  11   Chapter  6  Review.                                 Name:_________________          
1. A rational number is of the form 
[image: image14.emf] , where a and b are integers.

     a) What integer cannot be used for b? Why?
b) How does your answer to part a) relate to rational expressions? Explain using examples.
2. What are the non-permissible values, if any, for each rational expression?
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3. What is the numerical value for each rational expression? Test your result using some permissible values for the variable. Identify any non-permissible values.
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4. Write an expression that satisfies the given conditions in each case.
a) equivalent to 
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b) equivalent to 
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c) equivalent to 
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d) equivalent to 
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 , with non-permissible values of  ±4
5. A rectangle has area x2 − 1 and width x − 1.
a) What is a simplified expression for the length?
b) Identify any non-permissible values. What do they mean in this context?

6. Simplify each product. Determine all non-permissible values.
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7. Multiply or divide as indicated. Express answers in simplest form. Determine all  non-permissible values.
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8. The volume of a rectangular prism is (2x3 + 5x2 – 12x) cm3. If the length of the prism is (2x – 3) cm and its width is (x + 4) cm, what is an expression for the height of the prism?

9. Add or subtract. Express answers in simplest form. Identify any non-permissible values.
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10. Solve each rational equation. Identify all non-permissible values.
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11. Matt and Elaine, working together, can paint a room in 3 h. It would take Matt 5 h

       to paint the room by himself. How long would it take Elaine to paint the room by   herself?

12. An elevator goes directly from the ground up to the observation deck of the Calgary Tower, which is at 160 m above the ground. The elevator stops at the top for 36 s before it travels directly back down to the ground. The time for the round trip is 2.5 min. The elevator descends at 0.7 m/s faster than it goes up.
a) Determine an equation that could be used to find the rate of ascent of the elevator.

b) Simplify your equation to the form ax2 + bx + c = 0, where a, b, and c are integers, and then solve.
c) What is the rate of ascent in km/h, to the nearest tenth?
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